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2017 2018 2019 2020 2021
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A 09 4 0 0/ 0 0 1
1 1 6 0/ 0 0 2
16,770.10 | m? m 1 o1
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2021
= x 0.0258 525 kI
- 1,018 |t
) 12t
. 1,030 |t
2
- 1000/ 60.7 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® | 158,642.5| 45.00 7,138.9 0.0136 356.0
LPG | kg 0.0 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
A | L 149.0 | 39.10 5.8 0.0189 0.4
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh [1,353,582.0 9.76 13,211.0 0.4890 661.9
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
20,355.7 1,018.3
| m® 18,653.0 0.2660 5.0
| m® 18,653.0 0.4000 7.5
12.4
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
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Al 09|40 0 0 0 2
116 0 0 0 2
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- 0 |
| | O O
™ O O
O O O
9 8 2 1 O O ™
O O O
2021
= x 0.0258 68 [kl
) 1]t
=+ 134 |t
2
X 1000/ 67.3 |kg-CO,/m
GJ
t
=( /1000)x = x  x44/12
o | Nmd 1.9 | 45.00 0.1| 0.0136 0.0
LPG O kg 0.0 | 50.80 0.0| o0.0161 0.0
O L 0.0| 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
g8 2 O | kwh 00| 9.97 0.0| 0.4890 0.0
22 s | O | kwh 00| 9.28 0.0| 0.4890 0.0
O | kwh| 272,985.0 | 9.76 2,664.3| 0.4890 133.5
5 17 3 kWh 00| 9.76 0.0| 0.4890 0.0
2,664.4 133.5
O me 2,498.0 0.2660 0.7
O me 2,498.0 0.4000 1.0
1.7
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
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A213
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2021
= x 0.0258 128 |kl
i} 1]t
= + 250 t
2
= x 1000/ 56.3 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 28,115.2 | 45.00 1,265.2 [ 0.0136 63.1
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 | 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O kWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O kWh 0.0 9.28 0.0 | 0.4890 0.0
O kwh [ 381,903.0 9.76 3,727.4 | 0.4890 186.8
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
4,992.6 249.8
O m® 2,659.0 0.2660 0.7
O m 2,659.0 0.4000 1.1
1.8
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
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2021
= x0.0258 37
= 72
) 0
+ 72
2
x 1000/ 52.0 Jkg-CO,/m
GlJ
=( /1000)x x 44/12
o | Nmd 55.1 | 45.00 2.5| 0.0136 0.1
LPG O kg 0.0 | 50.80 0.0 0.0161 0.0
O L 0.0 36.70 0.0 0.0185 0.0
O 0.0
O 0.0
8 O | kwh 0.0 9.97 0.0| 0.4890 0.0
22 O | kwh 00| 9.28 0.0 0.4890 0.0
O | kwh| 147,806.0| 9.76 1,442.6 | 0.4890 72.3
17 3 kWh 00| 9.76 0.0| 0.4890 0.0
1,445.1 72.4
O m® 497.0 0.2660 0.1
O m® 497.0 0.4000 0.2
0.3
=( /1,000)x
x x )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
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O O
2021
= x 0.0258 57
= 110
i} 3
113
2
< 1000/ 60.4 |kg-CO,/m
GJ
=( /1000)x x 44/12
O Nm® 31,128.2 | 45.00 1,400.8 | 0.0136 69.9
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 O | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh 82,842.0 9.76 808.5| 0.4890 40.5
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
2,209.3 110.4
O m® 5,991.0 0.2660 1.6
O m 5,991.0 0.4000 2.4
4.0
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
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O O [ ]
8 2 1 9 O | ]
O O O
2021
= x 0.0258 71 ki
i} 0t
= + 139 t
2
1000/ 57.9 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.0136 0.0
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 284,634.0 9.76 2,778.0 0.4890 139.2
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
2,778.0 139.2
| m® 944.0 0.2660 0.3
| m 944.0 0.4000 0.4
0.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
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0 9 4 0 0 0/ 1 6
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2021
= x 0.0258 94
- 183
_ 0
183
2
< 1000/ 79.1 [kg-CO,/m
GJ
=( /1000)x x 44/12
O Nm® 26,994.8 | 45.00 1,214.8 | 0.0136 60.6
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 O | kWh 0.0 9.97 0.0 0.4890 0.0
22 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh | 252,050.0 9.76 2,460.0 | 0.4890 123.3
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
3,674.8 183.8
O m® 909.0 0.2660 0.2
O m 909.0 0.4000 0.4
0.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
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F, F
2,796.90 | m? 1 o1
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O O
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2021
= x 0.0258 115 |ki
= 224 1t
i} 0t
=+ 224 1t
2
= x 1000/ 80.0 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm? 10,316.1 | 45.00 464.2 | 0.0136 23.1
LPG O kg 0.0 | 50.80 0.0 o0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kWh 0.0 9.28 0.0 0.4890 0.0
O | kwh| 411,018.0 9.76 4,011.5| 0.4890 201.0
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
4,475.8 224.1
O m® 793.0 0.2660 0.2
O m 793.0 0.4000 0.3
0.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
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A 0 9 4 0 0 0,4 0
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O O O
2021
= x 0.0258 48 |ki
= 93 It
i} 1]t
=+ 94 |t
2
= x 1000/ 101.9 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm? 8,643.8 | 45.00 389.0 | 0.0136 19.4
LPG O kg 0.0 | 50.80 0.0 o0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh| 152,039.0 9.76 1,483.9 ( 0.4890 74.3
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,872.9 93.7
O m® 2,758.0 0.2660 0.7
O m 2,758.0 0.4000 1.1
1.8
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
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1 1 6 0 0 0 2
1,482.08 | m? m 1 o1
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[ ] O O
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O O [ ]
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O O O
2021
= x 0.0258 36 |ki
= 711t
i} 0t
= + 71 t
2
1000/ 47.9 |kg-CO,/m
GJ
t
=( /1000)x = x  x44/12
| Nm® 1.0 | 45.00 0.0 0.0136 0.0
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
O kwWh | 145,224.0 9.76 1,417.4 0.4890 71.0
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,417.4 71.0
| m® 660.0 0.2660 0.2
| m 660.0 0.4000 0.3
0.4
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
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O O
2021
= x 0.0258 54
- 105
) 0
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2
. 1000/ 84.8 |kg-CO,/m
GlJ
=( /1000)x x 44/12
o | nm®| 16,148.9 | 45.00 726.7 | 0.0136 36.2
LPG O kg 0.0 | 50.80 0.0 0.0161 0.0
O L 0.0 36.70 0.0 0.0185 0.0
O 0.0
O 0.0
8 O | kwh 0.0 9.97 0.0| 0.4890 0.0
22 s | O | kwh 00| 9.28 0.0 0.4890 0.0
O | kwh| 142,413.0| 9.76 1,390.0 | 0.4890 69.6
17 3 kWh 00| 9.76 0.0| 0.4890 0.0
2,116.7 105.9
O m® 440.0 0.2660 0.1
O m® 440.0 0.4000 0.2
0.3
=( /1,000)x
x x )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




21
Al 09|40 0 0 9 2
116 0 0 1 2
1,468.65 | m? m 1 o1
™ O |
| | O O
O O O
O O | |
8 2 1 9 O O ™
O O O
2021
= x 0.0258 43 ki
- 84 It
) 0t
=+ 84 |t
2
X 1000/ 57.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
o | Nmd 59.0 | 45.00 2.7 0.0136 0.1
LPG O kg 0.0 | 50.80 0.0| o0.0161 0.0
O L 0.0| 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
g8 2 O | kwh 00| 9.97 0.0| 0.4890 0.0
22 s | O |kwh 00| 9.28 0.0| 0.4890 0.0
O | kwh| 173,402.0| 9.76 1,692.4 | 0.4890 84.8
5 17 3 kWh 00| 9.76 0.0| 0.4890 0.0
1,695.1 84.9
O me 762.0 0.2660 0.2
O me 762.0 0.4000 0.3
0.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0/ 940 0/ 0 9 3
1 1 6 0/ 0 0 3
4,181.91 | m? m 1
. I
= O
O O O
O O n
8 5 4 1 O |
O O
2021
= x 0.0258 186
= 361
_ 8
+ 369
2
1000/ 86.3 |kg-CO,/m
GJ
=( /1000)x x 44/12
| Nm® 52,664.3 | 45.00 2,369.9 0.0136 118.2
LPG | kg 0.0 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 498,526.0 9.76 4.865.6 0.4890 243.8
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
7,235.5 362.0
| m® 13,449.0 0.2660 3.6
| m® 13,449.0 0.4000 5.4
9.0
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B103 B101
B106 B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E141
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 0 9 4
1 1 6 0 0 0 2
3,840.47 | m? 1
. I
n O
O O O
O O [ ]
8 5 4 1 O O
O O
2021
= x 0.0258 208
= 403
i} 10
N 413
2
< 1000/ 104.9 [kg-CO,/m
GJ
=( /1000)x x 44/12
O Nm® 82,362.9 | 45.00 3,706.3 | 0.0136 184.8
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 O | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh | 446,744.0 9.76 4,360.2 | 0.4890 218.5
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
8,066.5 403.3
O m® 15,899.0 0.2660 4.2
O m 15,899.0 0.4000 6.4
10.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 1 0 O
1 1 6 0 0 1 4
2,038.53 | m? m 1
n O |
n ]
] ] ]
0 0 n
8 54 9 O d
] O
2021
= x0.0258 37
- 72
_ 1
+ 73
2
x 1000/ 35.3 |kg-CO,/m
GJ
=( /1000)x x 44/12
O Nm? 9,727.4 | 45.00 437.7 0.0136 21.8
LPG O kg 0.0 | 50.80 0.0 0.0161 0.0
O L 0.0 36.70 0.0 0.0185 0.0
O 0.0
O 0.0
8 O kWh 0.0 9.97 0.0 0.4890 0.0
22 8 O kWh 0.0 9.28 0.0 0.4890 0.0
O kwh | 104,356.0 9.76 1,018.5 0.4890 51.0
17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,456.2 72.9
O m® 2,921.0 0.2660 0.8
O m 2,921.0 0.4000 1.2
1.9
=( /1,000)x
x x )/1,000
= / )% 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 1 0 1
1 1 6 0 0 0 3
3,804.66 | m? m 1
- O |
n O ]
O O O
] O n
8 5 4 1 O O
O O
2021
= x 0.0258 197
- 383
_ 6
+ 389
2
x 1000/ 100.6 |kg-COy/m
GJ
=( /1000)x x 44/12
| Nm® 40,858.6 | 45.00 1,838.6 0.0136 91.7
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 ] 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 O kWh 0.0 9.97 0.0 0.4890 0.0
22 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 595,899.0 9.76 5,816.0 0.4890 291.4
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
7,654.6 383.1
| m® 10,040.0 0.2660 2.7
| m 10,040.0 0.4000 4.0
6.7
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0/9/4]0 0 1 0 7
1 1 6 0 0 0 3
1,720.66 | m? m 1 o1
- 0 |
[ ] O O
O O O
O O [ ]
8 5 3 1 O | ]
O O O
2021
= x 0.0258 77 |Kki
= 150 It
i} 2|t
= + 152 t
2
1000/ 87.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.0136 0.0
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 307,220.0 9.76 2,998.5 0.4890 150.2
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
2,998.5 150.2
| m® 3,265.0 0.2660 0.9
| m 3,265.0 0.4000 1.3
2.2
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E141
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 1 0 9
1 1 6 0 0 0 2
1,767.90 | m? 1 o1
- O |
[ ] O O
O O O
O O [ ]
8 2 1 9 O O [ ]
O O O
2021
= x 0.0258 48 [kl
= 95 |t
i} 0t
= + 95 t
2
= x 1000/ 53.7 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 0.0 | 45.00 0.0| 0.0136 0.0
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 | 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh| 194,528.0 9.76 1,898.6 [ 0.4890 95.1
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,898.6 95.1
O m® 700.0 0.2660 0.2
O m 700.0 0.4000 0.3
0.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 1 1 3
1 1 6 0 0 1 1
2,223.00 | m? m 1 O 1
- O |
[ | O O
O O O
O O [ ]
8 2 1 9 O O [ ]
O O O
2021
= x 0.0258 44 ki
= 85 [t
i} 0t
= + 85 t
2
= x 1000/ 38.2 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm? 0.0 | 45.00 0.0| 0.0136 0.0
LPG O kg 0.0 | 50.80 0.0 o0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kWh 0.0 9.28 0.0 0.4890 0.0
O | kwh| 175,694.0 9.76 1,714.8  0.4890 85.9
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,714.8 85.9
O m® 387.0 0.2660 0.1
O m 387.0 0.4000 0.2
0.3
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E141
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




Al 09|40 01 2 4
116 0 0 1 3
934.23 | m? 1 o1
™ O |
| | O O
O O O
O O | |
8 5 3 1 O O ™
O O O
2021
= x0.0258 41 |kl
= 79 It
) 2 It
= + 81 t
2
X 1000/ 84.5 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
o | Nmd 3,202.5 | 45.00 144.1 | 0.0136 7.2
LPG O kg 0.0 | 50.80 0.0| o0.0161 0.0
O L 0.0| 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
g8 2 O | kwh 00| 9.97 0.0| 0.4890 0.0
22 s | O | kwh 00| 9.28 0.0| 0.4890 0.0
O | kwh| 148,608.0 | 9.76 1,450.4 | 0.4890 72.7
5 17 3 kWh 00| 9.76 0.0| 0.4890 0.0
1,594.5 79.9
O me 3,291.0 0.2660 0.9
O me 3,291.0 0.4000 1.3
2.2
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 01 2 6
1 1 6 0 0 0 2
2,970.35 | m? m 1
- 0 |
| | O O
O O O
O O | |
8 2 1 9 O O
O O
2021
= x 0.0258 54
= 105
) 2
+ 107
2
x 1000/ 35.3 |kg-CO,/m
GlJ
=( /1000)x x 44/12
o | Nmd 3,811.5 | 45.00 171.5| 0.0136 8.6
LPG O kg 0.0 | 50.80 0.0 0.0161 0.0
O L 0.0 36.70 0.0 0.0185 0.0
O 0.0
O 0.0
8 O | kwh 0.0 9.97 0.0| 0.4890 0.0
22 O | kwh 00| 9.28 0.0 0.4890 0.0
O | kwh| 198,298.0| 9.76 1,935.4 | 0.4890 97.0
17 3 kWh 00| 9.76 0.0| 0.4890 0.0
2,106.9 105.5
O me 3,074.0 0.2660 0.8
O me 3,074.0 0.4000 1.2
2.0
=( /1,000)x
x x )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 1,2 8
1 1 6 0 0 1 1
4,493.12 | m? 1
. I
n O
O O O
O O [ ]
8 0 4 2 O O
O O
2021
= x 0.0258 304
- 589
i} 7
+ 596
2
< 1000/ 131.0 [kg-CO,/m
GJ
=( /1000)x x 44/12
O Nm® 81,452.3 | 45.00 3,665.4 | 0.0136 182.8
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 O | kWh 0.0 9.97 0.0 0.4890 0.0
22 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh| 832,282.0 9.76 8,123.1| 0.4890 407.0
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
11,788.4 589.8
O m® 10,839.0 0.2660 2.9
O m 10,839.0 0.4000 4.3
7.2
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0/9/4]0 01 2 9
1 1 6 0 0 0 3
5,270.69 | m? 1 o1
- O |
[ ] O O
O O O
O O n
8 2 1 2 O | ]
O O O
2021
= x 0.0258 238 kI
i} 2|t
=+ 465 |t
2
1000/ 87.8 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.0136 0.0
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 ] 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 948,188.0 9.76 9,254.3 0.4890 463.7
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
9,254.3 463.7
| m® 3,083.0 0.2660 0.8
| m 3,083.0 0.4000 1.2
2.1
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0/9/4]0 01 1 1
1 1 6 0 0 0 3
1,496.55 | m® 1 O 1
- O |
[ O O
O O
O | O
8 2 1 9 O | [
] ] O
2021
= x 0.0258 36 kI
= 70 It
i} 0t
= + 70 t
2
1000/ 46.7 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.0136 0.0
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 ] 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwWh | 143,956.0 9.76 1,405.0 0.4890 70.4
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,405.0 70.4
| m® 579.0 0.2660 0.2
| m 579.0 0.4000 0.2
0.4
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 94 0 0 0 2|2
111 6 0 0 0]2
476.71 | m? 1 O 1
n O |
| O O
O O
O | O
8 0 5|1 O O [
O O O
2021
= x 0.0258 34 |k
= 67 |t
i} 3t
= + 70 t
2
= x 1000/ 140.5 Jkg-CO,/m
GJ
t
=( /1000)x = x  x44/12
O | Nm® 0.0 [ 45.00 0.0 [ 0.0136 0.0
LPG O kg 231.0 | 50.80 11.7| 0.0161 0.7
O L 344.0| 36.70 12.6 | 0.0185 0.9
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 [ 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 [ 0.4890 0.0
O | kwh| 135,699.0 | 9.76 1,324.4 | 0.4890 66.4
5 17 3 kwh 0.0 9.76 0.0 [ 0.4890 0.0
1,348.8 67.9
O m? 5,216.0 0.2660 1.4
O m* 5,216.0 0.4000 2.1
3.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0/9/4]0 0 0 5 6
1 1 6 0 0 0 2
786.26 | m? m 1 o1
- 0 |
[ ] O O
O O O
O O [ ]
8 5 3 1 O | ]
O O O
2021
= x 0.0258 38 |ki
= 74 t
i} 2|t
= + 76 t
2
1000/ 94.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 6,195.3 | 45.00 278.8 0.0136 13.9
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 123,048.0 9.76 1,200.9 0.4890 60.2
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,479.7 74.1
| m® 3,175.0 0.2660 0.8
| m 3,175.0 0.4000 1.3
2.1
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 09 4 0 0/ 1 3 3
1 1 6 0/ 0 1 4
2,025.00 | m? m 1 o1
- 0 |
n O O
O O O
O O =
8 5 3 1 O O ]
O O O
2021
= x 0.0258 40 kI
= 78 |t
) 1]t
= + 79 t
2
= x 1000/ 38.5 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
o | Nmd 3,776.7 | 45.00 170.0 [ 0.0136 8.5
LPG | kg 0.0 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 142,824.0 9.76 1,394.0 0.4890 69.8
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,563.9 78.3
| m® 2,722.0 0.2660 0.7
| m® 2,722.0 0.4000 1.1
1.8
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0/9/4]0 0 1 1 2
1 1 6 0 0 0 1
1,496.30 | m? LI 01
- O |
[ ] O O
O O
O [ | O
8 2 1 9 O | ]
O O O
2021
= x 0.0258 40 [kl
= 77 1t
i} 0t
= + 77 t
2
1000/ 51.4 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.0136 0.0
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 ] 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwWh | 159,294.0 9.76 1,554.7 0.4890 77.9
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,554.7 77.9
| m® 383.0 0.2660 0.1
| m 383.0 0.4000 0.2
0.3
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 0 1 5
1 1 6 0 0 0 2
10,044.09 | m? 1 O
- |
] O
O O O
O O [ ]
8 0 2 2 O O [ ]
O O O
2021
= x 0.0258 339 kI
= 657 |t
i} 3t
= + 660 t
2
X 1000/ 65.4 |kg-CO,/m
GJ
=( /1000)x = x  x 44/12
O Nm® | 100,751.5| 45.00 4,533.8| 0.0136 226.1
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh | 883,248.0 9.76 8,620.5| 0.4890 431.9
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
13,154.3 658.0
O m® 5,593.0 0.2660 1.5
O m 5,593.0 0.4000 2.2
3.7
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 1 3 4
1 1 6 0 0 0 3
1,578.00 | m? 1 O
- |
n O
O O
O [ | O
8 8,1 6 O O [ ]
O O
2021
= x 0.0258 65 [ki
- 127 |t
i} 0t
N 127 |t
2
< 1000/ 80.4 |kg-CO,/m
GJ
=( /1000)x = x  x44/12
O Nm® 31,695.6 | 45.00 1,426.3 | 0.0136 71.1
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 O | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh| 115,147.0 9.76 1,123.8 [ 0.4890 56.3
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
2,550.1 127.4
O m® 722.0 0.2660 0.2
O m 722.0 0.4000 0.3
0.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 0 4 5
1 1 6 0/ 0 2
1,853.30 | m? 1
- |
n O
O O O
O O | |
9 1 0 9 O O
O O O
2021
= x0.0258 38
- 75
) 1
+ 76
2
. 1000/ 40.4 |kg-CO,/m
GlJ
=( /1000)x x 44/12
o | nm®| 16,894.2 | 45.00 760.2 | 0.0136 37.9
LPG O kg 0.0 | 50.80 0.0 0.0161 0.0
O L 0.0 36.70 0.0 0.0185 0.0
O 0.0
O 0.0
8 O | kwh 0.0 9.97 0.0| 0.4890 0.0
22 s | O | kwh 00| 9.28 0.0 0.4890 0.0
O | kwh| 75,970.0| 9.76 7415 | 0.4890 37.1
17 3 kWh 00| 9.76 0.0| 0.4890 0.0
1,501.7 75.1
O me 2,394.0 0.2660 0.6
O me 2,394.0 0.4000 1.0
1.6
=( /1,000)x
x x )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 0/ 1 8
1 1 6 0 0 0 3
1,118.32 | m? 1 o1
- 0 |
[ ] O O
[ ] O O
O O O
8 8 1 7 O O [ ]
O O O
2021
= x 0.0258 32 |ki
= 62 |t
i} 1]t
= + 63 t
2
1000/ 55.4 [kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 6,880.6 | 45.00 309.6 | 0.0136 15.4
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh 95,961.0 9.76 936.6 | 0.4890 46.9
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,246.2 62.4
O m® 1,943.0 0.2660 0.5
O m 1,943.0 0.4000 0.8
1.3
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0/9/4]0 0 10 8
1 1 6 0 0 0 3
1,037.45 | m? 1 o1
- 0 |
O O n
O O
O O [ ]
8 2 1 9 O | ]
O O O
2021
= x 0.0258 36 |ki
= 70 |t
i} 0t
= + 70 t
2
1000/ 67.4 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.0136 0.0
LPG | kg 0.0 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 143,956.0 9.76 1,405.0 0.4890 70.4
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,405.0 70.4
| m® 579.0 0.2660 0.2
| m 579.0 0.4000 0.2
0.4
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 0 3 9
1 1 6 0 0 0 3
948.33 | m? 1 o1
- O |
[ ] O O
O O O
O O [ ]
8 5 4 3 O O [ ]
O O O
2021
= x 0.0258 49 |ki
= 95 |t
i} 21t
= + 97 t
2
= x 1000/ 100.1 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 14,824.6 | 45.00 667.1 | 0.0136 33.3
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 | 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O kWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O kWh 0.0 9.28 0.0 | 0.4890 0.0
O kwh [ 127,043.0 9.76 1,239.9( 0.4890 62.1
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,907.0 95.4
O m® 3,004.0 0.2660 0.8
O m 3,004.0 0.4000 1.2
2.0
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 1,3 5
1 1 6 0 0 0 2
10,943.74 | m? 1 O
. I
n O
O O O
O O [ ]
8 2 1 2 O O [ ]
O O O
2021
= x 0.0258 401 |kl
= 778 |t
i} 3t
= + 781 t
2
1000/ 71.0 [kg-CO,/m
GJ
=( /1000)x = x  x 44/12
O Nm® 41,207.5 | 45.00 1,854.3 | 0.0136 92.5
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh |1,403,130.0 9.76 13,694.5| 0.4890 686.1
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
15,548.9 778.6
O m® 5,088.0 0.2660 1.4
O m 5,088.0 0.4000 2.0
3.4
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0o 1 2 7
1 1 6 0 0 0 3
12,719.35 | m? 1 o1
. I
] O
O O O
O O [ ]
8 0 4 2 O O [ ]
O O O
2021
= x 0.0258 526 |ki
= 1,020 |t
i} 91t
= 1,029 |t
2
= x 1000/ 80.1 Jkg-CO,/m
GJ
t
=( /1000)x = x  x44/12
O Nm® | 227,343.7 | 45.00 10,230.5| 0.0136 510.2
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 | 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 | 0.4890 0.0
O kWh [1,043,905.0 9.76 10,188.5 0.4890 510.5
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
20,419.0 1,020.6
O m® 14,430.0 0.2660 3.8
O m 14,430.0 0.4000 5.8
9.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 1 3 6
1 1 6 0 0 0 2
2,065.25 | m? m 1
- |
n O
O O O
O O | |
8 5 3 9 O O
O O
2021
= x 0.0258 60
- 117
) 1
+ 118
2
x 1000/ 56.6 Jkg-CO,/m
GlJ
=( /1000)x x 44/12
o | Nmd 3,867.6 | 45.00 174.0 | 0.0136 8.7
LPG O kg 0.0 | 50.80 0.0 0.0161 0.0
O L 0.0 36.70 0.0 0.0185 0.0
O 0.0
O 0.0
8 O | kwh 0.0 9.97 0.0| 0.4890 0.0
22 O | kwh 00| 9.28 0.0 0.4890 0.0
O | kwh| 222,265.0| 9.76 2,169.3 | 0.4890 108.7
17 3 kWh 00| 9.76 0.0| 0.4890 0.0
2,343.3 117.4
O me 2,719.0 0.2660 0.7
O me 2,719.0 0.4000 1.1
1.8
=( /1,000)x
x x )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0/9/4]0 0 1 3 7
1 1 6 0 0 1 1
2,224.64 | m? m 1 o1
- 0 |
[ ] O O
O O O
O O [ ]
8 5 5 9 O | ]
O O O
2021
= x 0.0258 51 ki
i} 1t
= + 101 t
2
1000/ 44.9 lkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 7,357.2 | 45.00 331.1 0.0136 16.5
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 172,422.0 9.76 1,682.8 0.4890 84.3
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
2,013.9 100.8
| m® 2,737.0 0.2660 0.7
| m 2,737.0 0.4000 1.1
1.8
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 1 4 0
1 1 6 0 0 1 1
1,072.49 | m? 1 o1
- O |
[ ] O O
O O O
O O [ ]
8 0 5 2 O O [ ]
O O O
2021
= x 0.0258 34 ki
= 66 |t
i} 0t
= + 66 t
2
= x 1000/ 61.5 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 0.0 | 45.00 0.0| 0.0136 0.0
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 | 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh| 136,582.0 9.76 1,333.0 [ 0.4890 66.8
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,333.0 66.8
O m® 989.0 0.2660 0.3
O m 989.0 0.4000 0.4
0.7
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 01 4 1
1 1 6 0 0 1 1
1,204.19 | m? 1
- |
n O
O O O
O O | |
8 5 3 1 O O
O O
2021
= x0.0258 35
- 68
) 1
+ 69
2
. 1000/ 56.4 |kg-CO,/m
GlJ
=( /1000)x x 44/12
o | Nmd 3,509.0 [ 45.00 157.9 | 0.0136 7.9
LPG O kg 0.0 | 50.80 0.0 0.0161 0.0
O L 0.0 36.70 0.0 0.0185 0.0
O 0.0
O 0.0
8 O | kwh 0.0 9.97 0.0| 0.4890 0.0
22 s | O | kwh 00| 9.28 0.0 0.4890 0.0
O | kwh| 124,764.0| 9.76 1,217.7 | 0.4890 61.0
17 3 kWh 00| 9.76 0.0| 0.4890 0.0
1,375.6 68.9
O me 1,944.0 0.2660 0.5
O me 1,944.0 0.4000 0.8
1.3
=( /1,000)x
x x )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0/9/4]0 0 0 6 O
1 1 6 0 0 0 2
885.95 | m? m 1 o1
- 0 |
[ ] O O
O O O
O O [ ]
8 5 3 1 O | ]
O O O
2021
= x 0.0258 34 |ki
= 67 |t
i} 2|t
= + 69 t
2
1000/ 75.6 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 12,957.0 | 45.00 583.1 0.0136 29.1
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kWh 78,954.0 9.76 770.6 0.4890 38.6
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,353.7 67.7
| m® 3,237.0 0.2660 0.9
| m 3,237.0 0.4000 1.3
2.2
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0/9/4]0 0 13 8
1 1 6 0 0 1 2
2,106.13 | m? m 1 o1
- 0 |
[ ] O O
O O O
O O n
8 2 1 2 O | ]
O O O
2021
= x 0.0258 79 ki
= 154 |t
i} 0t
= 4 154 |t
2
1000/ 73.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.0136 0.0
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 316,972.0 9.76 3,093.6 0.4890 155.0
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
3,093.6 155.0
| m® 802.0 0.2660 0.2
| m 802.0 0.4000 0.3
0.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0/9/4]0 01 3 9
1 1 6 0 01 4
2,019.39 | m? m 1 o1
- 0 |
[ ] O O
O O O
O O n
9 8 2 1 O | ]
O O O
2021
= x 0.0258 44 |ki
= 87 |t
i} 0t
-, 87 |t
2
1000/ 43.0 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.0136 0.0
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 178,705.0 9.76 1,744.2 0.4890 87.4
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,744.2 87.4
| m® 827.0 0.2660 0.2
| m 827.0 0.4000 0.3
0.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




